R R EHIER

TH2F1 AN TM2FE12AFETICHRE (AB) SN-ERERBICE T2EEMKE(10aH=Y) X LLTDE
BYEGLTEYFET,

4f3%E4/828A
RNTREXEESR
1 HEOKTR) DB
NS Shi-tiga FHEE SESEL] RIE&E |[T—4% e
1A% R 1 e
LB e 300 REOES) 12,200/| 17,100M| 10,600M| 30 1(?%%.;:%);50?&0%@1
X KT
« MZ 7 i‘H’
TH Eéﬂﬁﬁg*gﬁ 11,200 | 11,400 | 10,000/ 7 | 10a47=YURE390kg A L
. (1% 2%KONE)
R A U e s
TE L NREOBR 9,100M| 11,400M| 5700M| 11 l?a%%;_%");lfg&Bék)guJ:
S R =
« MZ 7 i‘H’
TH E;ﬂﬁﬁg*gﬁ 11,000M| 12000M|  7,200M| 17 | 10a¥/=YiIRE 390kl £
. (1% 2%KONE)
R K
s = 11,600M| 14,700 | 10,000M| 24 |10a4f=YINE500kgkl £

(#42 30a XEDEE) (1F-2FRKDPRE)

. — ; 7K
FEZHX| @ EHRRE CRRERE 10,500M| 17,100MH 5,500 7 | 10aZ7=YUNE480kgLl £

LI/ B DM (1% 2% DINE)
K %G
~H E;%%g*gﬁ 11,200M| 11,400M| 10,000 6 | 10aZ47=YIRE390kgLl E
" (1FE- 2% XDOIRE)
rm TEER Mﬁéf ) t
A —= = 11,200 | 17,100 3,100M 47 | 10aZ7=Y U E500kgL
'ngﬁﬁﬂiﬁﬁéﬁiﬂz 7Kﬁﬁ'
$EER | bm (DEEESUFER) o500M| 11400M| 5700Mm| 11 | 10a7-YixEasokell

-ERNEBICERREL

L-/NEREDHX (1FE 25 KXDINE)

. JKFE
TH E;%%g*%ﬁ 10,600 17,100M 3,600 17 10aZ4 =Y IR =390kg kL £
. (1% 2% KDIE)

(B%)

BRI 11,100H 177




2 M (EEE-RE) DER
BN E) Shi-thig 4 %A B =88 =IEZE (T3 =

X 6,800 9,500 5,000/ 10
{FE G X 7,200| 10,400M 3,000 14
F AR 9,800M| 16,300M 1,800 3
(B%&)
SRR 7,300 27

3 A (BEH) DER

NS Shi-thig 4 %8 BX (= 58 =RIEZE (T4 =

EHTihX 11,500 16,900M| 10,000/ 9
BEESH#X 9,200M| 14,800 4,600 5
FE G X 10,000 | 19,100/ 3,000 63
F AR 6,200M| 10,000M 3,000 27
(B%&)
SRR 9,100 104

*1 T—AIL, EFHRAW-EHTHS,
FREEBEDKREIIBRNTNS, BtX, T—2H3ERBDIEEIETARLAL,

*2 BEEHEEYMIIEGRK) ELTNSIEE L, 60kgX7=U 11,4001 IZHELTLVS,

*3 HREHOEHICH->TKAEIZ. EFENTEYEEA,

x4 S, EHHFEREZUERALIOOMEELTLNS,

*5 [(BE)EZRATEH IOFEHEX. ERSDOEHEET —FHRICKYNEFYLI-ETHS.




